Приложение 1
	Исследуйте свободное падение тела

	№ опыта
	x0,м


	y0,м
	v0,м/c
	t,с
	Vy,м/c
	y=S,м
	Чертёж

	1
	0
	60
	0
	       
	
	
	Вывод:

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Исследуйте движение тела, брошенного вертикально вверх

	№ опыта
	x0,м


	y0,м
	v0,м/c
	t,с
	Vy,м/c
	y=S,м
	Чертёж

	1
	0
	0
	25
	       
	
	
	Вывод:

	2
	0
	0
	20
	
	
	
	

	3
	0
	0
	15
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	Общий вывод: 

	

	

	


